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QUESTION 1

A camera is positioned where backlighting is a problem. What would be the preferred action? 

A. Use a lens with a polarized filter 

B. Axis P-iris technology will solve your problem 

C. Increase the shutter speed to more than 1 /100 s 

D. Add additional light sources to counter backlighting 

Correct Answer: D 

 

 

QUESTION 2

The Axis pixel counter allows a user to 

A. Convert pixels to actual distances. 

B. Verify that the resolution requirements for a scene are met. 

C. Determine the file size for each video frame. 
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D. Specify different exposure zones in a scene. 

Correct Answer: B 

 

QUESTION 3

Which is true about P-iris? 

A. The P-iris makes use of a novel p-shaped blade that reduces complexity and cost while maintaining image quality 

B. In bright situations. P-iris limits the closing of the iris to avoid blurring caused by diffraction when the iris opening
becomes too small 

C. The P-iris delivers the optimal depth of field by always using the smallest possible aperture for the available lightning 

D. The P-iris makes use of a novel p-shaped blade that allows the iris to react to rapidly changing lighting conditions 

Correct Answer: B 

 

QUESTION 4

While setting up an AXIS Q7404 Video Encoder for control of an analog PTZ using Pelco D protocol, you run into a
problem. After uploading of the proper Pelco drivers into the AXIS Q7404 Video Encoder you find that channel 1 is
controlling the wrong analog PTZ. Which option below would you adjust to fix this problem so you can avoid changing
physical cables? 

A. IP address 

B. Device ID 

C. Baud rate 

D. Device type 

Correct Answer: B 

 

 

QUESTION 5

Which of the following statements are true for H.264? (Choose two) 

A. The size of an l-frame depends on the preceding P-frame 

B. Increased motion in a scene means increased bit rate 

C. Group of Video (GOV) length is directly affected by the sizes of the I- and P- frames 

D. A P-frame references preceding and succeeding P-frames 

E. Longer GOV length means reduced bit rate 
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Correct Answer: BE 
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